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Cel: 2XEAALS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,050
01 S22 &l 2,100 0 2,100
Od=d HF A=t X 2,100
s 1,050
Al 1,050
a2 JAEL OIZH| X 4,000 4,000 0
Jl 2,000
=S 1,000
Al 1,000
307 @12t0| & 4,000 4,000 0
Jl 2,000
= 1,000
Al 1,000
01 S22 &l 4,000 4,000 0
OFad &R Yl E4t 2|=H| XI& 4,000
Il 2,000
= 1,000
Al 1,000
DASEYMR=Hl XA 8,000 7,000 1,000
Il 4,000
= 2,000
Al 2,000
307 elztol & 8,000 7,000 1,000
) 4,000
< 2,000
Al 2,000
01 22X &I 8,000 7,000 1,000
OLRE UL o=l XA 8,000
Jl 4,000
< 2,000
Al 2,000
HEEDANE2H=F MA 498 632 A134
Jl 249
== 125
Al 124
307 212+01& 498 632 A134
Jl 249
=S 125
Al 124
05 2I2+R& = 498 632 VAN 7}
OHEZAEAH=F 498
Jl 249
= 125
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SN 2L
BB JMIC Q17 A2BRIA
Cel: 2XEAALS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 124
JINA & ZH2s N 210,000 173,400 36,600
= 105,000
= 42,000
Al 63,000
307 gl2to| & 210,000 173,400 36,600
= 105,000
= 42,000
Al 63,000
05 2I2HRIE S 210,000 173,400 36,600
OMASE JIMA ZMER XN 210,000
= 105,000
< 42,000
Al 63,000
Ol=0t ¥ S&&-0&0F 2=l X 4,000 12,000 28,000
Il 2,000
== 600
Al 1,400
307 glztol & 4,000 12,000 28,000
Il 2,000
== 600
Al 1,400
01 22X 2| 4,000 12,000 28,000
O0bl=0t & d&HH0l40t 2 ZHIXA 4,000
Jl 2,000
=S 600
Al 1,400
SHEUAOIE SAF & 2tot2tel 500 5,000 4,500
7l 250
= 75
Al 175
307 @I2t01 & 500 5,000 4,500
Il 250
= 75
Al 175
01 22X +&H| 500 5,000 A4,500
O LUAIOISE AL & BH0F2te] 500
Jl 250
= 75
Al 175
HE R A 500 500 0
) 250
= 75




SN 2L
S XHMIOH o172 AZ2&C At
Cel: 2XEAALS EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 175
307 212t01 & 500 500 0
Il 250
= 75
Al 175
01 22X +&H| 500 500 0
OXlM0E HE DRI ZIAHI 500
) 250
= 75
Al 175
at= 22ze]| XIZAHY 53,000 53,000 0
= 15,900
Al 37,100
201 er2 3| 2,000 0 2,000
=S 600
Al 1,400
01 AtR2tc|Hl 2,000 0 2,000
Odt= A2d2e| g22 HH 7Y
181%2,000,000& 2,000
< 600
Al 1,400
307 elztol & 51,000 53,000 22,000
= 15,300
Al 35,700
01 22X &Hl 51,000 53,000 A2,000
Ott= A2l X3 51,000
=S 15,300
Al 35,700
SUXEAE 4,178,533 3,475,598 702,935
= 674,000
=S 408,940
Al 3,085,593
CH 10,000
=SotEy 2901 =d 55,100 56,000 A900
201 Ler=23 | 17,600 17,600 0
01 AtR2telHl 5,000 5,000 0
OEMEH 22 MH 7¢ 5,000
03 A= &I 12,600 12,600 0
OLHRo| & HA} 5,000
Og=at JIIEAN S22 7,600
301 EtE NS 37,500 38,400 A900
14 IIEt2 8= 37,500 38,400 A900
O=40t O=E M 50,0003 %150 7,500
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SN 2L
S THMIOH o172 AZ2&C A
Rl SAXIRALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odldor 24 =ots3 N
100,000 *300& 30,000
Ed=ols N2 1,675,000 1,795,500 120,500
301 EtE2 NS 1,675,000 1,767,000 292,000
03 A2 H A0S (XIS THH) 1,675,000 0 1,675,000
SENELE 1,507,000
A2 (HROF) 1,000, 0002 <1302 130,000
- LAIB(EMOH) 2,000, 0002 +125% 250,000
- LAIZ(AAHOH) 4,000,000/ +352 140,000
- AAIZ(WTHOLOIAY)
5,000,0002 10 50,000
Z=(HMot) 1,000,000& 152 152,000
ZE=(Smot) 1,000,000 «381 381,000
23 (AMotol4})
2,000,000 «154& 308,000
- 23 (URotol4)
3,000,000 x32H 96,000
Odt2 Aot AZ2e|Ab X 168,000
ZOREs &3 800,000 x210H 168,000
Aoty 01E8d Ns 652,000 770,000 /118,000
= 424,000
& 64,000
Al 164,000
307 lztol & 652,000 770,000 A118,000
= 424,000
< 64,000
Al 164,000
05 2ItRIE = 652,000 770,000 A118,000
oxetd olgd X2
2,000,000& 326& 652,000
= 424,000
== 64,000
Al 164,000
AP A0 A2 22| IR AL (M EFAL) 240,933 336,848 A95,915
= 216,840
Al 24,093
307 elztol & 240,933 336,848 295,915
= 216,840
Al 24,093
05 212+ =S 240,933 336,848 A95,915
O/ A8oF A2 K& 240,933
=S 216,840
Al 24,093
=023 XNSAE 15,500 17,250 A1,750




SN 2L
ZE: A 1P ALBRIAY
Rl SAXIRALE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 3,100
Al 12,400
307 212+01 A 15,500 17,250 21,750
& 3,100
Al 12,400
11 AL =SXAMEES 15,500 17,250 A1,750
O(CHd)=0t8E X3 15,500
& 3,100
Al 12,400
FLO| S F R XIRAALS 500,000 500,000 0
= 250,000
& 125,000
Al 125,000
307 212+01™ 500,000 500,000 0
= 250,000
& 125,000
Al 125,000
02 QIZHBAAIE E X 500,000 500,000 0
Oz ol HUX 22| XA 500,000
= 250,000
= 125,000
Al 125,000
SSMEXCA HE(NLASUHSIIB) 1,040,000 0 1,040,000
Al 1,030,000
CH 10,000
401 A& B2 20HY| 1,040,000 0 1,040,000
Al 1,030,000
CH 10,000
01 Al&HI 1,040,000 0 1,040,000
O=s348=XR2|d EX0HYI 1,000,000
OS3MFRe2 AHEEE L AAHS 2| 40,000
Al 30,000
CH 10,000
Ot I Ol & 22| ALY 25,340 24,140 1,200
& 7,600
Al 17,740
OIEIl IR oig2AAIH (EX) 25,340 24,140 1,200
T 7,600
Al 17,740
201 Let23H| 4,640 3,600 1,040
= 1,390
Al 3,250
01 AtR2elt] 4,640 3,600 1,040




A BAL
M MO QT ABRIAY
ct?l: OELI0 22| At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOIEDl K ZeIAY T2 29
200,000 %152 3,000
= 900
Al 2,100
OOIED 225 7
18%1,640,000& 1,640
S 490
Al 1,180
202 04l 1,000 1,000 0
= 300
Al 700
01 =LHAHI 1,000 1,000 0
OOCIEL] Gl IAIE F&04H 1,000
= 300
Al 700
301 EtE NS 800 640 160
[ 240
Al 560
14 JIEt2 8= 800 640 160
OOIETI GIZZEIAY ZASE X2
80,000& * 102 800
= 240
Al 560
307 gl2to| & 18,900 18,900 0
=S 5,670
Al 13,230
01 elgX &l 18,900 18,900 0
OOzl IIRg 2=Hl XE € S5+
54,0003 +350& 18,900
< 5,670
Al 13,230
A8e AE. SSAYEx FE 488,048 585,276 197,228
= 169,325
= 82,970
Al 235,753
E24ltt JXE A NHEdd R 484,348 581,576 N97,228
= 169,125
< 81,980
Al 233,243
248 AUs4d & HRE 61,098 69,440 A8,342
201 Ler23| 13,048 17,148 24,100
01 At2teltl 13,048 17,148 24,100
OSIMelA Of2IEHs TI=H|
250,000 64 1,500
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-

KIO

Hlw

100

100

100

MEE
Ofl &k2h

18,000

6,406

1,79%

1,79%

1,860

1,860

1,550

1,550

1,200

1,200

3,210

310

Ofl &F2H

5,400
12,600
18,000

iy

Al

18,000
5,400
12,600
6,506
3,253
3,253

H

Al

fir

Al

1,79

898
898
1,79
1,79

fir

898
898
1,860

i

930
930
1,860
1,860

fir

930
930
1,550

fir

Al

775
775
1,550
1,550

i

775

i

775
1,300

650
650
1,300

fir

1,300

650
650

3,210

i

1,605
1,605

fir

Al

310

- HyS

- SRA(E) - HIRAY

S - B

no
<0
iy

t

14 JIEt

50,0002 +10H «36

0lo
ok

nO
KJ
]

<l

30
0H
[0
M0

202 OH|

01 =LA LI

X & &= o]

206 =4l

01 M=4l

no
<0
iy

s

14 J|Et

50,0003 12 »26

202 044l
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SN 2L
. MG AE. STAdEL |4
ciel: Z2AC Bis 9la NeAd 9E (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,200
301 EtE NS 6,000 6,000 0
=S 1,800
Al 4,200
14 0Bt 2as 6,000 6,000 0
O=M(EAHSAHSA AMSE X 6,000
M2, AXI0F M=
25,0003 *30 4 2= +6& 4,500
= 1,350
Al 3,180
CohLZ = S FAUES
50,0002 *300H A 1,500
== 450
Al 1,050
SAE AdSs 8K 3,000 3,000 0
S 900
Al 2,100
201 Ler23| 3,000 3,000 0
= 900
Al 2,100
01 AtR2t2|HI 3,000 3,000 0
OFIYS=SH L8l Xa
300,000 * 107 A 3,000
s 900
Al 2,100
SAE AMEE XI& 56,000 140,000 284,000
& 24,000
Al 32,000
402 QI”F X201 & 56,000 140,000 284,000
= 24,000
Al 32,000
02 QI X2 AL E R (0IETHE) 56,000 140,000 84,000
OSAE Aldie Xa 56,000
S 24,000
Al 32,000
ZEMHIA HEISHAAR2SH ) 4,534 10,000 N5,466
= 2,267
= 680
Al 1,587
301 eEetE2 N = 4,534 10,000 Nb,466
= 2,267
= 680
Al 1,587
4Bt 2 a3 4,534 10,000 Nb,466
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SN 2L
. MG AE. STAdEL |4
ciel: Z2AC Bis 9la NeAd 9E (el mg)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OFEAMHIA HESHAARZEINA) 4,534
= 2,267
== 680
Al 1,587
Mol SSAYMHIAMNE RE 3,700 3,700 0
= 200
== 990
Al 2,510
ANLHOl ISIAMMHIAMNE RE(EX) 3,300 3,300 0
== 990
Al 2,310
301 EtE NS 3,300 3,300 0
= 990
Al 2,310
14 DBt 23 3,300 3,300 0
OZl==AYZAIE &t
50,0002 x662 3,300
= 990
Al 2,310
AUESS d 2 400 400 0
= 200
Al 200
202 04l 320 320 0
= 160
Al 160
01 =LHAHI 320 320 0
ORIUES S50 320
= 160
Al 160
206 M=H| 80 80 0
= 40
Al 40
01 MHZHI 80 80 0
OAYES =HBAHI 80
= 40
Al 40
X0 AE el= XGAMzel &4 1,946,866 1,810,89% 135,970
Il 977,462
= 265,017
Al 704,387
XIOH 2l At 1,946,866 1,810,8% 136,970
) 977,462
= 265,017




SN 2L
S X0 Z2E gl KNG Ate =4
Sl RIOH22I ALY (B9 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 704,387
LOIA 22| AR (XIOH) 317,320 241,640 75,680
203 HRF=&lY| 1,000 1,000 0
03 A FAIH R FAIH| 1,000 1,000 0
OXIOH2IAIE AIZS=EIH] 1,000
301 LetENZ 35,000 35,000
14 J|Et2 43 35,000 35,000
OASEXNE a2 XD ¢
700,000 *5001 35,000
307 212+01 A 281,320 240,640 40,680
01 2L HZH| 281,320 240,640 40,680
OXIOH &EHA Al RI& 64,0002 x36H 2,304
OXIOH ZEZ Al XI& 80,000& x24YH 1,920
OXIHXI 2 2eldl XI&
19,0002 x382% + 12& 87,096
OL=5t0I0 XIOHAE T SHHA
95,0003 *2,000 190,000
?lUHiIE%BIHl KNA(ICNALBEHSC OflE) (HEAIS 407,718 322,104 85,614
& 265,017
Al 142,701
307 QIZ2t01A 407,718 322,104 85,614
= 265,017
Al 142,701
05 2IZtRES 407,718 322,104 85,614
OXlixIz el X (ISUAHLEBESE of
&) 407,718
& 265,017
Al 142,701
XIOHerAl M 29| 1,220,424 1,245,331 A24,907
| 976,339
Al 244,085
101 @124l 681,805 672,537 9,268
| 545,444
Al 136,361
03 SR (RIAHL) 22X B4 305,000 363,000 A63,000
OXIOHeIAIMIE SRE o1221(8Y) 305,000
| 244,000
Al 61,000
M IIZtH22sSE 376,805 304,537 72,268
OXIOHRHA MIE] DI2EHIZ2 2 A 212 (13Y) 374,205
J| 299,364
Al 74,841




SN BAL
33 X0 HE el NGAtel =4
2l XI0H2e AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXINAAEl D222k 22= 72
100,0002 * 1321 +23] 2,600
Jl 2,080
Al 520
201 et 3| 279,348 410,931 131,583
Il 223,478
Al 55,870
01 Al 22IH| 242,726 399,261 156,535
OXI0N NIHAIBIBOIR S Base
70,0002 7 H 23] 980
7l 784
Al 196
OXIDHIAHE 2222 (28) 7Y
10,0002 x25+680H 13,600
Jl 10,880
Al 2,720
OZ=0ol0IH XIS HBA S EE
Z 104 3,100
Jl 2,480
Al 620
OXIOH Z=J|HBA HH2AA =&
171,500 +802] 13,720
Jl 10,976
Al 2,744
OZSXIEX &l 2 165,000
ZEXHEA SH ANLEAB2(2HA)
500,000 * 122 6,000
Jl 4,800
Al 1,200
St & 28z 7
10,0002 x202 %304 2% 1453] 87,000
Jl 69,600
Al 17,400
ZSAINEA HE SSHA(0ISHL) 2
AYI(A ) 50,0002 601 x2403 72,000
Jl 57,600
Al 14,400
OXIOfetA Jt=na S 2EME 2
10,0002 %158 x153] 2,250
Jl 1,800
Al 450
OXIDHeH& M SALRF HI=HI(149)
100,000 x 12 +23] 2,400
Jl 1,920
Al 480




2A:

=PIPN

LT

ZE: A AN gls XA X4
C2l: XIHZ2l ALY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIOHt&HIE SALA SEH
8,0003 x 12«32 x 12 3,45
Jl 2,765
Al 691
OXINQIIMIE 2 XY S ARHYI(55)
3,185,000~ 128 38,220
Jl 30,576
Al 7,644
02 S5=g4l 36,622 11,670 24,952
O=ZHre XIHog s X [/l
140,000, 000& *10% 14,000
Jl 11,200
Al 2,800
OXIHEA ADE HUES AMAE BS2
ctRE 23 1,500,000 «62 9,000
7l 7,200
Al 1,800
OZSXI0Het i S8 SUHSHEES It
all 1,122
) 897
Al 225
OXIHet S =3 it
10,0002 150 #34 4,500
Jl 3,600
Al 900
OxtgmFHl & SA2cdl S 8,000
Jl 6,400
Al 1,600
202 04| 7,000 10,000 A3,000
Il 5,600
Al 1,400
01 =LHOLI 7,000 10,000 23,000
OXIH22IAY A3E, usEH S 0l 7,000
Jl 5,600
Al 1,400
207 ARl 30,000 0 30,000
Jl 24,000
Al 6,000
02 MAHHZHI 30,000 0 30,000
OR2Hr XIofolgn=s HO|Astel) 28 =
JORe 30,000
Il 24,000
Al 6,000
301 LELEE S 106,440 111,863 ADb,423
Jl 85,152




2A:
X XH -
o e

=aak

=PIPN

X0 HE Q= XHAtel 4
XIOH &2l AH

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 21,288
11 #AIAHIXIZ S 30,080 42,343 A12,263
OXIfog e & IX2ena 24 g
2,0003+80S +83] 1,280
Jl 1,024
Al 256
OZEXINER E 24 7
2,000 *20E *30H A-+2403] 28,800
Jl 23,040
Al 5,760
4Bt 2as 76,360 69,520 6,840
Ot XMHEuS Ol=X &322 7
30,0003 +500& 15,000
Jl 12,000
Al 3,000
OXIHHEY & oIt wd At
80,0002 x4 2«83 2,560
Jl 2,048
Al 512
OB SXIEA & ZA=E
80,0003 x3JH 2A=x2402] 57,600
Jl 46,080
Al 11,520
OXIOHE A =W & TUE2Y 2A=g
80,0003 x1&x153] 1,200
Jl 960
Al 240
303 Zal= 5,430 0 5,430
Il 4,344
Al 1,086
02 8taoi2 5,430 0 5,430
OXIDHetAHIE S2A U =(82) 5,430
7l 4,344
Al 1,086
04 HSRESS 55,000 0 55,000
Jl 44,000
Al 11,000
04 SR (RIH 22N BE=RES S 55,000 0 55,000
OXlljetadie! S2A 28z, EXHs 2
g2 S(8Y) 55,000
Il 44,000
Al 11,000
307 glztol & 55,401 40,000 15,401
Jl 44,321
Al 11,080




=PIPN

LT

2A:

33 X0 HE el NGAtel =4
s XI0H2 el AL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 22X &I 55,401 40,000 15,401
OXION =213 &bl 9,801
- SEE A 55,0002 *90H 4,950
Jl 3,960
Al 990
ZEH A 63,0002 *77& 4,851
7l 3,881
Al 970
OXIext 228 € 7(98) 40,000
Jl 32,000
Al 8,000
OXIHeEA i s 7
35,0002 x80H*25 5,600
Il 4,480
Al 1,120
SSAUUCL S S5 X2 A 1,404 1,821 AATT7
Il 1,123
Al 281
201 Ler23| 1,404 1,821 AT
Jl 1,123
Al 281
01 AtR2t2lHI 1,404 1,821 N7
OXI SE2AAY =4 1,404
Jl 1,123
Al 281
At2te| s=Egias flet AL ACIAY 1,096,732 1,069,768 26,964
= 277,858
[ 84,99
Al 733,879
g2 22l 1,026,588 1,033,778 AT7,190
= 243,786
== 78,181
Al 704,621
SdE2HA 378,360 370,460 7,900
101 e124d| 35,280 93,860 A\58,580
03 SRA(RIH )22 U2+ 35,280 93,860 A\58,580
O32% 224 B (L2EATg =) 35,280
ESE 100,000 x4 = 1204 2 4,800
g2+ 1,100, 0002 «6H <22 13,200
=AM 140,000& x6E 1200 2 10,080
SRS 100,000 x6H 129 7,200
201 er23 | 12,600 14,600 22,000
01 At2teltl 12,600 14,600 /2,000
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SN 2L
3 It sEHEdE flet AT 2ACIAE
el gEAZ 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 33,000
Al 33,000
OIHEEN 292 1Y
150,000& x2&H 300
= 150
Al 150
201 2= 62,084 61,434 650
= 31,042
Al 31,042
01 At2t2ltl 29,684 59,034 A29,350
OxX(18) & it 1,100,000& «12& 13,200
= 6,600
Al 6,600
OALNIE gsgH S UH01A 2
150,000 50 7,500
= 3,750
Al 3,750
Ocl2s & 2238 ¢
2,246,000 x44] 8,984
= 4,492
Al 4,492
02 S3=gl 32,400 2,400 30,000
QAIATII SHRS(FEE)
25,0002 x40CH* 122 12,000
= 6,000
Al 6,000
OAIALIN SHRS(HEE)
25,0002 *60CH* 123 18,000
= 9,000
Al 9,000
Oxtg 7&FHl & FA22H S
200,000& * 128 2,400
= 1,200
Al 1,200
301 LELE NS 6,000 1,500 4,500
= 3,000
Al 3,000
14 IIEt2 83 6,000 1,500 4,500
OAZ0lE 22X AMEIE XIS
20,0003 %300 6,000
= 3,000
Al 3,000
307 21201 & 4,000 24,150 A20,150
= 2,000
Al 2,000
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SN 2L
3 It sEHEdE flet AT 2ACIAE
el gEAZ 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIEEREET] 4,000 24,150 A20, 150
Og2SAE 22 2 )W S 7Y
80,0002 *50CH 4,000
= 2,000
Al 2,000
AlLlEa ZE olgael 5,430 7,990 A2,560
201 et 3| 4,150 4,150 0
01 AtR2tc|Hl 4,150 4,150 0
Odoled 2T e tY2eAMY nsHT 7Y
875,000 x24] 1,780
Odzgaeigde 2223 7
10,0002 * 152 %167 2 2,400
301 EtE NS 1,280 3,840 N2,560
11 #AIAHIXIZ S 1,280 1,280 0
OMCEBESHYRR T2 SR
= 20,0003 * 167 2= %42 1,280
Ot 8 XL 22| AL 23,500 27,900 A4,400
307 212+0| & 23,500 23,500 0
NEEEEETT 23,500 23,500 0
OMIILET SYH 7
23,5002 %1,000& 23,500
LB OlEHl ¥ THot2el X (ISR 22| At 19,766 19,766 0
&) (HEAL)
= 11,860
Al 7,906
201 fer=3| 1,240 800 440
== 744
Al 4%
01 At22t2lt] 1,240 800 440
OMot2elne =257
310,000& 42 1,240
= 744
Al 4%
202 04dl 2,000 2,000 0
= 1,200
Al 800
01 2L A LI 2,000 2,000 0
OMItS2e| At =&I04H|
200,000& %102 2,000
[ 1,200
Al 800
301 EtE NS 1,800 2,240 A4
= 1,080
Al 720
11 #AIAMHIXIE S 1,000 1,440 N4
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SN 2L
3 It sEHEdE flet AT 2ACIAE
el EEAY 2CIAY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMItLEXt T2 =8 243
100,000& %102 1,000
= 600
Al 400
14 0Bt 2a3 800 800 0
OMItZEA T2 =& 2AkH
80,000& *10= 800
< 480
Al 320
307 elztol & 14,726 14,726 0
= 8,836
Al 5,890
01 22X +&H| 14,726 14,726 0
OMIIE2tAt A0l & 2SS 7
73,6303 %200 14,726
=S 8,836
Al 5,890
KSASI WS & EIStALY 70,144 356,990 34,154
= 34,072
=S 6.814
Al 29,258
SO HE A 2,000 2,000 0
201 et 3| 2,000 2,000
02 s3=gHl 2,000 2,000
ON&EHl FAI2==H| 2,000
KNS A2 SATHE K2 A 68, 144 33,990 34,154
= 34,072
== 6.814
Al 27,258
101 e124d| 68, 144 33,990 34,154
= 34,072
= 6.814
Al 27,258
04 JIZtN2 2N S 2+ 68, 144 33,990 34,154
OXISAIZI SETHEAY dgel= 67,944
= 33,972
= 6,794
Al 27,178
OXIZABISATIEAIY Metel2! Ij=t|
100,000& 2 200
= 100
S 20
Al 80
NSARI S oA ehaf 1,659,360 1,706,476 AN47,116




A AL
A XIMEITY HAAY EA
Rl XSAE HAHZ AN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,548
Jl 365,397
= 299,551
Al 991,864
KAt AL AS 1,659,360 1,706,476 A47,116
= 2,548
7l 365,397
= 299,551
Al 991,864
AL =RNEEH 2S 17,000 21,000 24,000
307 @I2to| & 17,000 17,000 0
01 22 +ZH| 17,000 17,000 0
ONEAIEA & Falaetlt Ss2&gHl X
& 500,000 x4H 2,000
Odaldatit Xzt N
130,000 %100 13,000
OZZeit H222E s JIAM 7
1,000,000& *22] 2,000
HAHEAIE(EX) 846,800 818,450 28,350
< 254,040
Al 592,760
307 elztol & 846,800 818,450 28,350
= 254,040
Al 592,760
11 AMEISXAEEE 846,800 818,450 28,350
OZAINEAIE 23| X&
825,200,000 * 100 £ 825,200
= 247,560
Al 577,640
OBAUTHZAIL BAT SE4T
1,800,0002 12 21,600
== 6,480
Al 15,120
Aaog alelxls A& 59,670 56,720 2,950
= 17,901
Al 41,769
307 el2to| & 59,670 2,500 57,170
= 17,901
Al 41,769
05 git?(& = 59,670 0 59,670
OXtaie &elxls X 59,670
== 17,901
Al 41,769
Aaolgy & AUALSTA 30,540 30,540 0




S BAL
Hu: XIGMEIEA B St
| 2

Rl XSAE HAHZ AN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Il 16,270
Al 16,270

307 lztol & 30,540 0 30,540
Jl 15,270
Al 16,270

05 212t =S 30,540 0 30,540
ONNY 2 SAAISIAI 30,540
) 16,270
Al 15,270

FAALSIIHE Haog egEsts 36,094 35,490 604
Jl 18,047
Al 18,047

307 212+01& 36,094 0 36,094
Jl 18,047
Al 18,047

05 2IMRIE S 36,094 0 36,094
OZAASSAME NHaUTA o8 X3 36,094
Jl 18,047
Al 18,047

JI=ZAAL=AHH 29 51,100 64,400 /13,300
Il 25,550
Al 25,550

307 @I2t01 & 51,100 0 51,100
7l 25,550
Al 25,550

05 2IZtRAE = 51,100 0 51,100
O =XdEH 2 51,100
Il 25,550
Al 25,550

SUABSAHY IHES 336,960 382,780 145,820
Jl 168,480
Al 168,480

307 @120l & 336,960 0 336,960
Il 168,480
Al 168,480

05 2IR”tRIE = 336,960 0 336,960
OZAAL=XIHE XS 336,960
7l 168,480
Al 168,480

SYINALSTAL 276,100 292,000 A15,900
Jl 138,050
[ 27,610
Al 110,440




SN 2L
T TAEISA DAY B
Rl NFALE ZAAZ A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 276,100 0 276,100
Jl 138,050
== 27,610
Al 110,440
05 2ItRIE = 276,100 0 276,100
OSSIAALSTA 276,100
Jl 138,080
=S 27,610
Al 110,440
oA =8l A& 5,09 5,096 0
= 2,548
Al 2,548
307 glztol & 5.09% 5.0% 0
= 2,548
Al 2,548
01 22X +&H| 5,096 5,096 0
OZulZetkt Xigsl X2 5,096
= 2,548
Al 2,548
HY2AAHI(BHL) 853,894 907,227 A\53,333
el 2| 391,209 454,037 A\62,828
el 24| 391,209 454,037 AN\62,828
101 @124H| 390,425 454,037 263,612
02 JIEtME = 342,669 407,585 /64,916
OSEsEHAN AeEsHd=3
900,000 «30H = 12& 324,000
OSSZ2AAAM AlZte 22+E
13,3692 x2S *25A[ 2+ 669
OSSE2AA 228
50,0002 x30E 122 18,000
03 SRH(RINHA) 222+ 47,756 46,452 1,304
Ot 47,756
lEs 2,611,980« 18~ 128 31,344
eSRUES Rl 170,000& x 1= 123 2,040
C AR 125,000& x 1~ 123 1,500
C Rl 100,000 x 1 * 12 1,200
g2 2,611,980 x 12 +50%*22| 2,612
-d2Y JRts 80,0002 x1& 122 960
HE S| 2,611,980 x1H «60%*22] 3,135
A2l
15,8113 *150%+ 12+ 13A1 2+ 123 3,700
A2 &I 15,8112 x1&*8A1 2H+ 10 1,265
303 Zal= 784 0 784




SN BAL
M HARAZH|(EHL)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 Z&k= 784 0 784
Oduta= 2,611,980 *30% 784
=&l 462,685 453,190 9,49
JI=2&Hl 462,685 453,190 9,49
201 L= 227,575 196,270 31,305
01 AF22t2ltl 18,735 12,230 6,505
O2g+g(dA) 60,0002 *1162 6,960
O2g=2 () 25,0002 +249& 6,225
O=gHl 450,000& * 12 5,400
OstZ2eld 1=l 150,000 1 150
02 2324l 208,840 184,040 24,800
ORdYsz 220,000& 128 2,640
OB (BAXL X&) 145,000
ONSRB(EAHX L EEH
3,000,000& « 128 36,000
O4ot+=CRB(EAHR A ZEH)
1,600,000& 122 19,200
OR8 Y¥&5R= 500,000& * 128 6,000
202 044l 207,800 227,000 19,200
01 =LA LI 54,800 54,800 0
O eR=a 54,800
02 A0 153,000 172,200 219,200
O8AX A AN 52,800
-0t &, AL
300,000 x5« 122 18,000
elEH 250,000 x1&~ 128 3,000
228 200,000& x2E12& 4,800
-JIEISES 150,000& x 158 * 123 27,000
OBHE=Z A EHANY| 48,000
org, tha, &t
300,000 x2E 128 7,200
elEH 250,000& x1E~12& 3,000
228 200,000& «3H*12& 7,200
-JIEISES 150,000 «17H =123 30,600
OSSZ2A2AF A0
150,000 x29& « 128 52,200
203 2R =L 27,310 29,920 A2,610
01 J1 228 RF=8H| 3,300 3,300 0
OJ|22ggR=at] 3,300
02 H3OtaHA RF&| 5,650 6,460 A810
OZIRIE 2= 5,650
04 EXA2EERFAH 18,360 20,160 21,800
ORMEZYgR=at] 18,360
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